
6B Inverse Hyperbolic Functions 

1. Sketch hyperbolic function 

a) 𝑦 = 𝑎𝑟𝑠𝑖𝑛ℎ 𝑥 

 

b) y = arcosh 𝑥 

 

c) 𝑦 = 𝑎𝑟𝑡𝑎𝑛ℎ 𝑥 

 



2. Show that 𝑎𝑟𝑠𝑖𝑛ℎ 𝑥 = 𝑙𝑛(𝑥 + √𝑥2 + 1) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. Show that 𝑎𝑟𝑐𝑜𝑠ℎ 𝑥 = 𝑙𝑛(𝑥 + √𝑥2 − 1) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4. Find an expression for 𝑎𝑟𝑡𝑎𝑛ℎ 𝑥 using logarithms 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5. Express using natural logarithms: 

a) 𝑎𝑟𝑠𝑖𝑛ℎ 1 

 

 

 

 

 

b) 𝑎𝑟𝑐𝑜𝑠ℎ 2 

 

 

 

 

 

c) 𝑎𝑟𝑡𝑎𝑛ℎ 
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